Date

ROUND ROCK TEXAS

Signature

Contract Quantity Adjustment/Change Order

EXHIBIT "A"

| Department. | Utilities And Environmental Services | | | |
|---------------------------|---|--|------------------------------------|-----------------|
| Project Name: | South Creek AC Waterline Reh | abilitation | Date: <u>1</u> | 1/11/22 |
| City Project ID Number | SCRK | Chang | ge Order/Quantity Adjustment No | 2 |
| Vendor | SKE Construction, LLC | PO Box 1111 Cypress, TX 774 | 10 | 281-585-4100 |
| | Company Name | Address | | Phone No. |
| Justification | | ant a contract of a contract of | This shangs and an is | to adjust all |
| estimated quar | that were estimated for this job were an estimation. Some line items we we ntities. | ent over and some we did not use all that was estimated. | This change order is | to adjust all |
| SUMMARY | | | Amount | % Change |
| Original Contrac | t Price: | | \$1,697,337.50 | |
| Previous Quanti | ity Adjustment(s): | | | |
| This Quantity A | djustment: | | \$92,424.72 | |
| Total Quantity A | Adjustment(s): | ; · · | \$92,424.72 | |
| Total Contract P | Price with Quantity Adjustment(s): | | \$1,789,762.22 | |
| Previous Change | e Order(s): | | \$30,000.00 | 2% |
| This Change O | Order: | | | 0% |
| Total Change (| Order(s) To Date: | _ | \$30,000.00 | 2% |
| Adjusted Contra | act Price [Original Contract Price Plus Quantity Adjustment(s) Plus Change Ord | er(s)]: | \$1,819,762.22 | |
| Difference betw | reen Original and Adjusted Contract Prices: | | \$122,424.72 | |
| Original Contrac | ct Time: | 150 | | |
| Time Adjustmer | nt by previous Quan. Adj./Change Order: | , <u> </u> | | |
| Time Adjustmer | nt by this Quan. Adj./Change Order: | | | |
| New Contract T | ime: | <u>150</u> | | |
| | Submitte | d for Approval | | |
| Prepared By: | Shelly A Coerhart Signature | Shelly A. Eberhart, President/CEO, SKE Constru Printed Name, Title, Company | | 1/11/22 Date |
| | | provals | | 计多数相似 经经济 |
| Contractor: | Shelly A Gerhart | Shelly A. Eberhart, President/CEO, SKE Constru | ction, LLC | 1/11/22 |
| City Project Manager: | Signature Signature | Printed Name, Title, Company Chris Perkins Printed Name, Title | | /31/22 Date |
| Mayor/City Manager | | ÷ | | |
| · ranager | | | | |

Printed Name, Title



Project Name: South Creek AC Waterline Rehabilitation

Quan. Adj./Change Order No.: 2

Change Order Data

| Item # | Item Description | Unit | Qty. | Unit Price | Amount | Contract Time Adjustment (Days) |
|--------|------------------|------|------|------------|------------------|--|
| | | | | | | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | - | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 \$0.00 | |
| | | | | | \$0.00 ¢0.00 | |
| | | | | | \$0.00 \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | + + | | | \$0.00 | |
| | | 1 | | | \$0.00 | |
| | | | | | \$0.00 | |
| | | 1 | | 1 | \$0.00 | |
| | | | | | \$0.00 | |
| LL | | | | | , | |
| | | | | TOTALS: | \$0.00 | 0 |



Project Name: South Creek AC Waterline Rehabilitation

Quan. Adj./Change Order No.: 2

Quantity Adjustment Data

| | Quantity Adjustme | iii Data | | | | | |
|------------|--|----------|-------|-----|---------|---------------|--|
| Bid Item # | Item Description | | Qty. | Uni | t Price | Amount | Contract Time Adjustment (Days) |
| 3 | TRAFFIC CONTROL PLAN BY CONTRACTOR, SIGNED AND SEALED BY REGISTERED PROFESSIONAL ENGINEER IN TEXAS | LF | -860 | \$ | 0.75 | -\$645.00 | |
| 4 | EROSION CONTROL LOGS FOR CURB INLET PROTECTION, AS PER DETAIL EC-13 FOR DEPTHS OF 5' OR LESS, COORDINATE AND PERFORM LOCATION AND MARKING OF ALL BURIED EXISTING UTILITIES PRIOR TO COMMENCING WORK (EXAMPLE: BURIED CABLES, FIBER OPTICSM GAS LINES, ETC). PERFORM PRE-CHLORINATED PIPE BURSTING OF EXISTING 6" ASBESTOS CEMENT WATER LINE, REPLACE WITH 6" HDPE DR11 WATER LINE, COMPLETE, INCLUDING EXCAVATIONS, BACKFILL, HYDROSTATIC PRESSURE TESTING, POST-BURSTING CLOSED CIRCUIT TV INSPECTION OF ALL SANITARY SEWER LINES AS DESCRIBED IN ATTACHEMENT A OF SECTION 01000 (TECHNICAL SPECIFICATIONS) AND DELIVER TO CITY, REPLACEMENT OR REPAIR OF MAILBOXES, FENCING, | LF | -130 | \$ | 8.00 | -\$1,040.00 | |
| _ | LANDSCAPE AND IRRIGATION SYSTEMS WITH REVEGETATION (SOD), SAME VARIETY AS REMOVED | | 1000 | | | | |
| 5 | FOR DEPTHS OF 5' OR LESS, COORDINATE AND PERFORM LOCATION AND MARKING OF ALL BURIED EXISTING UTILITIES PRIOR TO COMMENCING WORK (EXAMPLE: BURIED CABLES, FIBER OPTICSM GAS LINES, ETC). PERFORM PRE-CHLORINATED PIPE BURSTING OF EXISTING 6" ASBESTOS CEMENT WATER LINE, REPLACE WITH 8" HDPE DR11 WATER LINE, COMPLETE, INCLUDING EXCAVATIONS, BACKFILL, HYDROSTATIC PRESSURE TESTING, POST-BURSTING CLOSED CIRCUIT TV INSPECTION OF ALL SANITARY SEWER LINES AS DESCRIBED IN ATTACHEMENT A OF SECTION 01000 (TECHNICAL SPECIFICATIONS) AND DELIVER TO CITY, REPLACEMENT OR REPAIR OF MAILBOXES, FENCING, LANDSCAPE AND IRRIGATION SYSTEMS WITH REVEGETATION (SOD), SAME VARIETY AS REMOVED | LF | -1630 | \$ | 66.50 | -\$108,395.00 | |
| 6 | FOR DEPTHS OF 5' OR LESS, COORDINATE AND PERFORM LOCATION AND MARKING OF ALL BURIED EXISTING UTILITIES PRIOR TO COMMENCING WORK (EXAMPLE: BURIED CABLES, FIBER OPTICSM GAS LINES, ETC). PERFORM PRE-CHLORINATED PIPE BURSTING OF EXISTING 8" ASBESTOS CEMENT WATER LINE, REPLACE WITH 8" HDPE DR11 WATER LINE, COMPLETE, INCLUDING EXCAVATIONS, BACKFILL, HYDROSTATIC PRESSURE TESTING, POST-BURSTING CLOSED CIRCUIT TV INSPECTION OF ALL SANITARY SEWER LINES AS DESCRIBED IN ATTACHEMENT A OF SECTION 01000 (TECHNICAL SPECIFICATIONS) AND DELIVER TO CITY, REPLACEMENT OR REPAIR OF MAILBOXES, FENCING, LANDSCAPE AND IRRIGATION SYSTEMS WITH REVEGETATION (SOD), SAME VARIETY AS REMOVED | LF | 0 | \$ | 77.00 | \$0.00 | |
| 7 | FOR DEPTHS GREATER THAN 5', COORDINATE AND PERFORM LOCATION AND MARKING OF ALL BURIED EXISTING UTILITIES PRIOR TO COMMENCING WORK (EXAMPLE: BURIED CABLES, FIBER OPTICSM GAS LINES, ETC). PERFORM PRE-CHLORINATED PIPE BURSTING OF EXISTING 12" ASBESTOS CEMENT WATER LINE, REPLACE WITH 12" HDPE DR11 WATER LINE, COMPLETE, INCLUDING EXCAVATIONS, BACKFILL, HYDROSTATIC PRESSURE TESTING, POST-BURSTING CLOSED CIRCUIT TV INSPECTION OF ALL SANITARY SEWER LINES AS DESCRIBED IN ATTACHEMENT A OF SECTION 01000 (TECHNICAL SPECIFICATIONS) AND DELIVER TO CITY, REPLACEMENT OR REPAIR OF MAILBOXES, FENCING, LANDSCAPE AND IRRIGATION SYSTEMS WITH REVEGETATION (SOD), SAME VARIETY AS REMOVED | LF | -1000 | \$ | 73.00 | -\$73,000.00 | |
| 8 | | LF | 1770 | \$ | 90.00 | \$159,300.00 | |



| rev, 01/16 | | | | | | | |
|------------|--|-----|-----|-----|-----------|----------------|--|
| | FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL SHORT SINGLE | | | | | | |
| | SERVICE, INCLUDING 1" SERVICE SADDLE (EPOXY COATED WITH DUAL | | | | | | |
| | SST BANDS) 1" FORD OR APPROVED EQUAL BRASS CORPORATION | | | | | | |
| | STOP, 1" POLYETHYLENE DR9 WATER SERVICE TUBING, 1" X 5/8" FORD | | | | | | |
| | OR APPROVED EQUAL, LOCKING ANGLE STOP, AS PER DETAIL DRAWING | | | | | | |
| 9 | NO, WT-02 | EA | -4 | \$ | 800.00 | -\$3,200.00 | |
| | FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL LONG SINGLE | | | | | | |
| | SERVICE, INCLUDING 1" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 1" FORD OR APPROVED EQUAL BRASS CORPORATION | | | | | | |
| | STOP, 1" POLYETHYLENE DR9 WATER SERVICE TUBING, 1" X 5/8" FORD | | | | | | |
| | OR APPROVED EQUAL, LOCKING ANGLE STOP, AS PER DETAIL DRAWING | | | | | | |
| 10 | NO, WT-02 | EA | -2 | \$ | 850.00 | -\$1,700.00 | |
| - 10 | FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL SHORT DUAL | | | Ψ | 000.00 | 41/.00.00 | |
| | SERVICE, INCLUDING 1-1/2" SERVICE SADDLE (EPOXY COATED WITH | | | | | | |
| | DUAL SST BANDS) 2" FORD OR APPROVED EQUAL BRASS CORPORATION | | | | | | |
| | STOP, 1-1/2" POLYETHYLENE DR9 WATER SERVICE TUBING, 1-1/2" X 3/4" | | | | | | |
| | MIP FORD OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8" FIT FORD OR | | | | | | |
| | APPROVED EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, | | | | | | |
| 11 | WT-04 | EA | -13 | \$ | 900.00 | -\$11,700.00 | |
| | FOR DEPTHS OF 5' TO 10', FURNISH AND INSTALL SHORT DUAL SERVICE, INCLUDING 1-1/2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST | | | | | | |
| | BANDS) 2" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 1- | | | | | | |
| | 1/2" POLYETHYLENE DR9 WATER SERVICE TUBING, 1-1/2" X 3/4" MIP FORD | | | | | | |
| | OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8" FIT FORD OR APPROVED | | | | | | |
| | EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-04 | | | | | | |
| 12 | , | EA | -1 | \$ | 900.00 | -\$900.00 | |
| | FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL LONG DUAL | | | 1 | | | |
| | SERVICE, INCLUDING 1-1/2" SERVICE SADDLE (EPOXY COATED WITH | | | | | | |
| | DUAL SST BANDS)2" FORD OR APPROVED EQUAL BRASS CORPORATION | | | | | | |
| | STOP, 1-1/2" POLYETHYLENE DR9 WATER SERVICE TUBING, 1-1/2" X 3/4" | | | | | | |
| | MIP FORD OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8" FIT FORD OR | | | | | | |
| | APPROVED EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-04 | | | | | 100.000 | |
| 13 | | EA | -28 | \$ | 950.00 | -\$26,600.00 | |
| | FOR DEPTHS OF 5' TO 10', FURNISH AND INSTALL IONG DUAL SERVICE, | | | | | | |
| | INCLUDING 1-1/2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 2" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 1- | | | | | | |
| | 1/2" POLYETHYLENE DR9 WATER SERVICE TUBING, 1-1/2" X 3/4" MIP FORD | | | | | | |
| | OR APPROVED EQUAL U-BRANCH, 2-3/4X5/8" FIT FORD OR APPROVED | | | | | | |
| | EQUAL LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-04 | | | | | | |
| 14 | | EA | -1 | \$ | 900.30 | -\$900.30 | |
| | FOR ALL DEPTHS, REMOVE AND REPLACE EXISTING 6" INLINE DUCTILE | | | | | | |
| 15 | IRON FITTINGS, INCLUDING MEGALUG RESTRAINTS | TON | -10 | \$ | 5.00 | -\$50.00 | |
| | FOR ALL DEPTHS, REMOVE AND REPLACE EXISTING 8" INLINE DUCTILE | | 4.0 | | | | |
| 16 | IRON FITTINGS, INCLUDING MEGALUG RESTRAINTS | TON | -10 | \$ | 5.00 | -\$50.00 | |
| 17 | FOR ALL DEPTHS, REMOVE AND REPLACE EXISTING 12" IN-LINE DUCTILE | TON | 10 | • | 5.00 | Φ Ε0.00 | |
| 17 | IRON FITTINGS, INCLUDING MEGALUG RESTRAINTS FOR ALL DEPTHS, REMOVE AND REPLACE FIRE HYDRANT AC PIPE LEAD - | TON | -10 | \$ | 5.00 | -\$50.00 | |
| | REPLACE WITH 6" DUCTILE IRON PIPE, CLASS 150, INCLUDING GATE | | | | | | |
| 18 | VALVE AND TEE, AS PER DETAIL WT-05 | EA | -1 | \$ | 2,500.00 | -\$2,500.00 | |
| - 10 | FURNISH AND INSTALL CLOW OR APPROVED EQUAL FIRE HYDRANT AND | | • | Ψ | 2,000.00 | 42/000.00 | |
| | ASSEMBLY, AS PER DETAIL DRAWING NO WT-05, AS DIRECTED BY | | | | | | |
| 19 | INSPECTOR | EA | 1 | \$ | 5,800.00 | \$5,800.00 | |
| | FURNISH AND INSTALL 12" CLOW GATE VALVE, OR APPROVED EQUAL, | | · | | | | |
| | INCLUDING BOOT, RISER AND LID, AND CONCRETE COLLAR, AS PER | | _ | | | | |
| 20 | DETAIL DRAWINGS WT-11 AND WT-06 | EA | 3 | \$ | 3,500.00 | \$10,500.00 | |
| | FURNISH AND INSTALL 8" CLOW GATE VALVE, OR APPROVED EQUAL, | | | | | | |
| 3.1 | INCLUDING BOOT, RISER AND LID, AND CONCRETE COLLAR, AS PER | | 0 | _ | 0.500.00 | ¢E 000 00 | |
| 21 | DETAIL DRAWINGS WT-11 AND WT-06 FURNISH AND INSTALL 6" CLOW GATE VALVE, OR APPROVED EQUAL, | EA | -2 | \$ | 2,500.00 | -\$5,000.00 | |
| | INCLUDING BOOT, RISER AND LID, AND CONCRETE COLLAR, AS PER | | | | | | |
| 22 | DETAIL DRAWINGS WT-11 AND WT-06 | EA | -4 | \$ | 2,350.00 | -\$9,400.00 | |
| | FURNISH AND INSTALL 3/4" BRONZE NON-RISING STEM GATE VALVE AND | | - | Ψ | 2,000.00 | 45/100100 | |
| | FITTINGS, BOX AND LID (PROPERTY OWNERS CUT-OFF VALVE ASSEMBLY | | | | | | |
| | OUTSIDE METER BOX) AS DIRECTED BY INSPECTOR | | | | | | |
| 23 | | EA | 18 | \$ | 98.00 | \$1,764.00 | |
| | INSTALL PLASTIC SINGLE METER BOX, AS DIRECTED BY INSPECTOR, PER | l I | | | \exists | . — | |
| 24 | DRAWING WT-02 | EA | -29 | \$ | 150.00 | -\$4,350.00 | |
| 35 | INSTALL PLASTIC DUAL METER BOX, AS DIRECTED BY INSPECTOR, PER | l | 4.5 | | 040.00 | 43.450.00 | |
| 25 | DRAWING WT-02 TRENCH AND PLACE 4" SDR35 CASING PIPE FOR LONG WATER SERVICE | EA | -15 | \$ | 210.00 | -\$3,150.00 | |
| | AS PER DETAIL DRAWING WT-01 (INCLUDING PAVEMENT REPAIR, | | | | | | |
| 26 | SEPARATE AND APART FROM BID ITEM 40). | LF | 249 | \$ | 50.50 | \$12,574.50 | |
| | | | | + + | 30.00 | 412/57 1150 | |



| | | | |
|--|------|------|--|
| | | | |
| | | | |
| | | | |

| | | | | TOTALS: | \$92,424,72 | 0 |
|----|--|-----|---------|----------------|---------------------|---|
| | | l l | | | 7 | |
| | | | | | \$0.00 | |
| 38 | NO, WT-02 | EA | -1 | \$ 900.00 | -\$900.00 \$0.00 | |
| 20 | FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL LONG SINGLE SERVICE, INCLUDING 2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 2" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 2" POLYETHYLENE DR9 WATER SERVICE TUBING, 2" X 5/8" FORD OR APPROVED EQUAL, LOCKING ANGLE STOP, AS PER DETAIL DRAWING | | | | 4000.00 | |
| 37 | FOR DEPTHS OF 5' OR LESS, FURNISH AND INSTALL SHORT SINGLE SERVICE, INCLUDING 2" SERVICE SADDLE (EPOXY COATED WITH DUAL SST BANDS) 2" FORD OR APPROVED EQUAL BRASS CORPORATION STOP, 2" POLYETHYLENE DR9 WATER SERVICE TUBING, 2" X 5/8" FORD OR APPROVED EQUAL, LOCKING ANGLE STOP, AS PER DETAIL DRAWING NO, WT-02 | EA | -1 | \$ 900.00 | -\$900.00 | |
| 36 | 12" DIAMETER x 2" AIR RELEASE VALVE | EA | -1 | \$ 1,500.00 | -\$1,500.00 | |
| 35 | 8" DIAMETER x 2" AIR RELEASE VALVE | EA | -1 | \$ 1,500.00 | -\$1,500.00 | |
| 34 | 6" DIAMETER x 2" AIR RELEASE VALVE | EA | -1 | \$ 1,500.00 | -\$1,500.00 | |
| 33 | PERFORM TYPE "C" HOT MIX ASPHALTIC CEMENT (HMAC) ROAD REPAIR USING APPROVED MECHANIZED HMAC LAYOUT MACHINERY | TON | 65 | \$ 180.00 | \$11,700.00 | |
| 32 | REMOVE AND REPLACE CONCRETE CURB AND GUTTER | LF | 68 | \$ 25.14 | \$1,709.52 | |
| 31 | PERFORM CONCRETE DRIVEWAY REPAIR AS PER DETAIL DRAWING NO. S-02. APPROX. 216 SF EACH | EA | -10 | \$ 5,000.00 | -\$50,000.00 | |
| 30 | PERFORM CONCRETE PEDESTRIAN RAMP REPAIRS, COMPLYING WITH ADA REGULATIONS AND MATCHING EXISTING STYLE | EA | 17 | \$ 3,184.00 | \$54,128.00 | |
| 29 | PERFORM CONCRETE SIDEWALK REPAIRS. REPAIRS SHALL BE PERFORMED PER DETAIL DRAWING NO ST-01 | SF | 12201.5 | \$ 12.00 | \$146,418.00 | |
| 28 | FURNISH AND INSTALL 6" WASTEWATER CLEAN-OUT ASSMEBLY (NON-PAVED SURFACE) AS PRE DETAIL WW-14 | EA | -13 | \$ 173.00 | -\$2,249.00 | |
| 27 | FURNISH AND INSTALL 6" SDR26 PVC SEWER SERVICE PIPING | LF | -29 | \$ 10.00 | -\$290.00 | |